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Notes: Solving Logarithmic Equations
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What Should I Be Able to Do?

common base logarithmic equations that require me to

ondense logarithms.

Solve:
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Solve:

Checkpoint:
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Do Now: Find the solution to eac
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Checknoint:

Solve the following equation

log, x + log,(x — 5) = log, (x + 17

acj(x -5%) = loj (x+\ Cﬁeck

KE-GX =XHTT Loy Byl BB o i)
=-Gx-1770 et tit Y5ph, 25

-bE b Yac Gt {Lﬁ - T




Success Criteria

- I can solve logarithmic equations that require me to condense logarithms.
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Classwork: Solving Logarithmic Equations

Solve each of the following logarithmic equation: .‘
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